
What were the Liberal Reforms and did they deal with poverty?

Aim: 
To understand and evaluate the 
reforms the Liberal Party 
introduced to improve the lives 
of the poor



The Liberal Party swept to power in the General 

Election in 1906. In the new Parliament there were 

4000 Liberal MPs, 157 Conservatives and 29 Labour 

MPs. Almost immediately the Liberal Government 

embarked on a far reaching and never before seen 

social reform programme.

You have been given a table on an A3 sheet. As we go through the Liberal Reforms of the 

new government, one by one, you’ll need to fill in your table. It will get easier as we go 

through. You have some information already filled in…



Pros and cons?

14 million free meals a year



Pros and cons?



Pros and cons?



Pros and cons?

• Had to earn less than £21 a year and 
your pension got lower each £ you 
earned up to £31 a year! After that 
you didn’t qualify

• You also couldn’t have been in prison 
10 years before applying



Pros and cons? Brought together workers looking for a job with employers looking for workers



Pros and 
cons? Liberal government wanted to help workers who became unemployed or ill

Less than £160 a year



Pros and cons?



How would it be paid for?



Contributions were taken directly from wages

Worker received a stamp on his insurance card 
to prove eligibility of benefits

Many employers opposed 
the Act as it would cost a 

lot of money to pay a 
worker not working

Are these cartoons in support of the National 
Insurance Act or against it?



Pros and cons?



Why were some people unhappy about the 
Liberal Reforms?
Conservatives

House of Lords

Labour

Some workers

didn’t like the deductions from wages

didn’t like the tax increases that 
would be needed

didn’t like the way the state was 
getting involved in people’s lives

didn’t like the fact that workers had 
to pay towards the benefits



David Lloyd George (Chancellor) 
& Winston Churchill

These reforms, especially pensions, had to 
be paid for. To do this, David Lloyd George, 
as Chancellor of the exchequer, 
introduced a new budget in 1909 which 
taxed the rich and the landowners.

At first the House of Lords opposed the 
budget – Why?

Many people felt it was wrong for the 
state to step in and help people as this 
might encourage them to be lazy and not 
stand on their own two feet – do you 
agree?

The Liberals got re-elected in the General 
Election so it was passed and the 
foundations of the Welfare State were 
laid…



Create a very quick timeline of the Liberal Reforms, but the only words / letters you 
can use are the titles of the reform eg Free School Meals Act and the date. 

You need to draw an image or icon that represents that Act or Law…

1900 1914



Recap Quiz:

1. When was the School Meals Act?

2. Free school medical inspections were introduced in 1907 – what was still a 
problem for another 5 years?

3. Name two details of what the Children’s Act said.

4. When was the Old Age Pensions Act?

5. How old did you have to be to get a pension?

6. What was the maximum income you could have and still get a pension?

7. What law made it easier for the unemployed to find jobs?

8. The National Insurance Act introduced two types of benefits – what were they?

9. When was the National Insurance Act?

10. Name the 3 groups that contributed towards National Insurance-related 
benefits

1906

Had to pay for treatment if found necessary

- Children’s homes would be inspected
- Under 14 could no longer be sent to adult prison

- Child criminals went to Borstal 
instead of prison
- U14 Not allowed into pubs
- U16 couldn’t buy cigarettes

1908
70+

£31

The Labour Exchange Act

Paid if they were out of work, unable to work and Free medical treatment if in the scheme

1911-1912

Employer, Worker, Government


